(| (&) 725ty — (X)$7*U9p|) 801 = (A) S

N >~
A N v
= I =
> < - 0 )
€3 2. -2 3 S S o= w2 82
O 0
s § § § § § 3§ § 8
= [ [ [ = [ = [ =
OEc 0QOFEo OEo OFo OEo QOFo OEo ©OFEo AQEo
Pac Pac pPac Pac 22 BeS BeS pES gpEs
o o o o o o o o o
£2% z8% 288 8% 288 =28% 288 =88 =%
S92 S88: 228: 222: 2998 9%8: 28%c 2%2c 238c
BNIF BINg DASF SAQF BING SASF BINF BINF BISF
| N 1 T Y 1 N T Y A I | | N T T N N N Y I A I | | N T T Y Y N AN N A I |
5| EEEE | N | SRS | S | S | EES | EEES | mmes | EEE [ Path 1280 (no PMTUD)
¢ BEEm N EEEN | NN S5 N S & | EEES SSSE = N[ 1280 (no PMTUD)
5 EEEE | NonE | S | B | S | NN | B | e W [- 1280 (PMTUD)
| | S | S | S S | e | S S [ 1500
[&)
S of MEEE | W | SN | N | SN | NN | SN | NN EEEE | Path 1280 (10 PMTUD)
Y pEEE AN NN | DN SR | e | B W | EEE [ 1280 (no PMTUD)
I e
Qo -
|
o EEE | . SN | FEES EEEE | EEEE | GES | EEEE  EEEE | Path 1280 (10 PMTUD)
o A | | | BN RN | AR EEEE | RN - 1280 (no PMTUD)
2 mEEE | AN N | BN RN | AR » | EEEE EEEE [ 1280 (PMTUD)
o | N N | BN RN | AR EEEE EEEE | 1500
EEEE | | mEES | MmEE CE (B b | MMM SmeE | me W[ 1280 (o PMTUD)
A - no
5 M N EEEE | EEEN == | 5 6 | SEES =SSN = H[ 1280 (PMTUD)
Z| EEEE | e N EEEE EEEE SeE | SR | SN s | 1500
o o EEE | | EEE | JEES EEE (eSS | EEES  EEEE  EEE | Path 1280 (1o PMTUD)
S mEEE | wmes | mEEe | mE | nE | s | W | | w1250 (PUTUD)
i C
Z) NN | S | NN | NN N | EESE | S | SSSE | S 1500
o EEEE | . A | 08 SRS | EEEE | SEES EEEE  EEEE | Path 1280 (n0 PMTUD)
o | NN EEEE | e SN | EEEE | SEES  EEEE WS [ 1280 (no PMTUD)
o | N N EEEE NSNS | SEES EEEE SR | 1280 (PMTUD)
5 e | A EN EEEE EEEE | EEEE EEEE EEEE | 1500
-
S ¢ EEEN NENE EEN_| EEEN | ESES EEES | EEES M | mmmm [ Path 1280 (no PMTUD)
2 S e | mee u | AEEE | SN oo | SEES SmmE SEE | 1280 (no PMTUD)
8 o mmmN | mmem | NN EEEE e | S | S | o [ 1280 (PMTUD)
N | EEEE EEEE EEE | SR | e | s [ 1500
S¢ o nmmm sen | s | puss sees | sees | SEes | SEws | mm= Path 1280 (70 PMTUD)
g | EEEE | - M| W | EEEE WEEE EEOE[ 1280 (no PMTUD)
£ 5 mmmm H | EEEE | B H| E | EEEN SEEE E= W[ 1280 (PMTUD)
S ;| mmmm H | EEEE | B H|E N | NN SEEE == E| 1500
[]
¢ o/EET NN EEEE | S | NN | NN | EEES EEEE | EEEE - Path 1280 (no PMTUD)
O ojmE w EEEN EEEE | DN | NN NN | SN EEES EEEE - 1280 (no PMTUD)
@ ZH mN EEEE EEEE | DEES  EEEE EEEN | EEES EEEE EEEE - 1280 (PMTUD)
S o mEN EEES SEEN | SEES EEEE SEEN | NS | SEEE | S - 1500

T T T T T T T T T
2IG:0SNQ3 262H0SNA3 9607:0SNA3  ZG:0SNA3 262H:0SNA3 9607:0SNA3  2HS:0SNA3I 262H:0SNA3 960¥:0SNA3T
PAdI OAd| 3OBIS-leng



